	Chapter 2 – Benchmark model of the economy: positive and normative approaches



Section A
Learning objectives
After studying this chapter you should be able to:

· identify the critical assumptions of the two-sector model

· define what is meant by a Pareto-optimal allocation of resources

· articulate the three conditions for a general equilibrium

· distinguish between allocative efficiency, X-efficiency, and ‘dynamic’ efficiency (or economic growth)

· discuss the broad categories of market failure

· explain the allocative, distributive, and stabilisation functions of government

· distinguish between direct and indirect forms of government intervention.

Chapter outline
We begin this part of our book with a brief review of the neoclassical theory of general equilibrium which, over the years, has become something of a benchmark model. It is a benchmark model precisely because it does not presume to provide an accurate description of the real world. Rather, it should be seen as a frame of reference, or a starting point, that helps us to better understand and appreciate real-world problems. As we shall see in the chapters that follow, the model can in fact accommodate a large variety of alternative assumptions, and it is this built-in flexibility that enables it to yield alternative predictions that bring us closer to the real world.

Section 2.1 of this chapter provides a brief description of the basic assumptions of our benchmark model, while Sections 2.2 and 2.3 discuss the equilibrium properties of the model. These three sections thus provide a vision of how the world ought to work, and as such can be viewed as a good example of what some commentators refer to as ‘normative’ economics. In Section 2.4 we begin to compare our normative model with the real world and, in so doing, enter the domain of ‘positive’ economics. This is done by introducing the concept of ‘market failure’ – a generic term describing broad categories of human behaviour that deviate from the ideal assumptions of the benchmark model. Sections 2.5 and 2.6 briefly deal with the role of the public sector in coming to grips with these market failures and related real-world problems. These issues will be dealt with in greater detail in Chapters 3–6. This chapter concludes with a note on government failure.

Answers to self-assessment exercises 
2.1
Distinguish between allocative efficiency, X-efficiency, and economic growth (‘dynamic’ efficiency) and briefly consider their relevance to South Africa.

Answer (brief guidelines):

·  Allocative efficiency:

· Allocation in accordance with the explicit wishes of the population

· Consequent mix of goods optimal

· Under perfectly competitive conditions utility-maximising consumers respond to prices that reflect full cost of production, in other words social costs
· Reflects interaction between utility-maximising consumers and profit-maximising producers
· Should there be no public sector such a situation will be achieved provided three conditions are met

· Name the three conditions without elaborating or proof.
· X-efficiency: Also named technical efficiency refers to the situation where resources are used in the most efficient way attainable for the production of goods and services. It thus implies:
· That production will be on the production possibility curve (PPC), not inside it because then resources can be used more efficiently, while a position outside the PPC is not attainable with the given resources, but
· That X-efficiency alone is not enough to measure economic efficiency because production on the PPC does not necessarily mean that people demand that combination of goods, therefore
· People need a way of expressing their desire for goods and services, which they can do in a well-functioning price system.
· Allocative efficiency is important in SA because of the need to deliver private and public goods in a well-balanced manner to a population of which the resources, like in other societies, outstrip the needs to be satisfied.

· X-efficiency in SA is equally important because of the scarcity problem that requires every resource to be used with great efficiency in order to satisfy the needs of a diverse society.

2.2
Outline the conditions for a top-level general equilibrium and explain why they represent a Pareto-optimal allocation of resources.

Answer (brief guidelines):

·  An outline of the conditions demand: 
· A clear statement of each of the three conditions, both in words and in symbols where the symbols are explained but where the mathematical proof is not essential.

· For condition 1, its Pareto optimality is found in the fact that when this condition applies, it is not possible to increase the output of any one commodity without decreasing the output of another.

· For condition 2 its Pareto optimality is found in the fact that when it applies it is impossible to increase the utility of one consumer without decreasing the utility of the other consumer.

· For condition 3 its Pareto optimality is to be found in the fact that when it applies it is not possible to increase the utility of one consumer without decreasing the utility of the other one and, simultaneously, it is not possible to increase the production of one commodity without decreasing the production of the other one.
2.3
Explain the meaning of market failure and provide a few pertinent examples.

Answer [brief guidelines, bullets only]:

·  [  ]. In a strict definition market failure will refer to each case where a specific market does not comply with all the requirements for the perfectly competitive model. Such an ideal situation will never be achieved and therefore the main reasons for market failure can be listed as follows:
· Where either consumers or producers operate with a lack of information.

· Where friction costs are incurred in adjustments  to new circumstances or where adjustments are slow to take place

· When markets are incomplete, in other words incapable of delivering goods because of their public goods nature or where market processes generate positive or negative externalities

· Where markets are non-competitive

· When macro-economic instability occurs in the form of recessions, depressions or inflation

· When inequalities occur in income distribution and the distribution of opportunities to earn income.

2.4
Distinguish between the allocative and distributive functions of government.

Answer (brief guidelines):

·  Allocative function: 

· The market fails to allocate resources to the delivery of pure public goods. Society, however, needs pure public and pure private goods, the latter to which the market can allocate resources. It is the government’s function to allocate resources to the delivery of pure public goods
· The market likewise fails to allocate resources efficiently to the delivery of mixed goods

· Elaborate on their characteristics and the market’s subsequent failure in allocating resources
· The market further fails in rewarding positive externalities and penalising negative externalities

· Government has to allocate resources to reward positive externalities and intervene to penalise negative externalities.

· Allocation in the case of artificial monopolies

· Allocation in the case of natural monopolies.
· Distributive function: The market distributes rewards in accordance with the existing distribution of resource ownership. Therefore

· When this distribution is skew the distribution of rewards will also be skew

· Explain what is meant by skew

· This skewness or inequality in income distribution may not be acceptable to the community
· The government has to step in to bring about an adjustment in the original possession of production factors or in the distribution of rewards following upon the existing distribution of ownership.
· In the case of the allocation function the government brings about adjustments in the way in which resources are used, while

· In the case of redistribution the government adjusts either the possession of resources or the rewards that follow upon the use of these resources.

2.5 Should governments have a stabilisation function?

Answer (brief guidelines):

·  Assigning a stabilisation function to government is anchored in Keynesian macroeconomics which justifies a stabilisation function on grounds of :
· Market economy inherently unstable

· Macroeconomic instability is one market failure

· Macroeconomic policies by government can stabilise the economy.

· Governments must thus and are able to apply ant-cyclical stabilisation policies.

· New classical macroeconomics believes adjustment is unnecessary and impossible because market participants foresee possible government intervention and act before the application of such policies by government. 

· Keynesian Demand Management policy lacks a sound microeconomic foundation (Explain why)

· Neo-Keynesian school attempts to provide the microeconomics of macroeconomics and in that way justify the government’s stabilisation function.

2.6
Distinguish between direct and indirect government intervention.

Answer (brief guidelines):

·  Direct government intervention: Intervention by means of measures applied via the budget, which means:
· Intervention by means of state expenditure

· Intervention by means of raising state revenue, mainly through taxation

· Intervention by means of funding a budget deficit, mainly through state borrowing.
· Indirect government intervention: Intervention via legislation which regulates some or other aspect of economic behaviour, like:
· The way the labour market works
· Elements of consumption and thus of production like ant-tobacco legislation

· The competitiveness of markets

· Allowing or disallowing private property rights.
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